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Exer 1

In the game of bridge, the entire deck of 52 cards is dealt
out to 4 players. What is the probability that

(@) one of the players receives all 13 spades;

(b) each player receives 1 ace?
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Let F be the event That ench ployer receives an Ace.
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Def. (Conditionel prob.).
letb E, F be two events for a random expenment.
Sppise P(F) >0 Than tha conditional prob. o E
Given F i
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EXamPle 3.

A bin contains 3 types of disposable flashlights. The
probability that a type 1 flashlight will give more than 100
hours of use is .7, with the corresponding probabilities

for type 2 and type 3 flashlights being .4 and .3, respectively.
Suppose that 20 percent of the flashlights in the bin are type
1, 30 percent are type 2, and 50 percent are type 3.

(@) What is the probability that a randomly chosen flashlight
will give more than 100 hours of use?

(b) Given that a flashlight lasted more than 100 hours, what is
the conditional probability that it was a type j flashlight, j = 1,
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